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1. Find the sum of the measures of the interior angles of a 32-gon.
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2. The measure of an interior angle of a regular polygon is 60. Find the number of sides in the polygon.
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3. Find the measure of an exterior angle and an interior a.ngle given a regular polygon wnh 18 sides.
o (1€-a) = 2380 =18 = loo? (nN¥erioy
Qo X

N_ 5 T, R
l(f‘.) : o) =

Find the measure of each interior angle for #4-7. ' I
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6. parallelogram MNPQ with 7. isosceles trapezoid TWXY with
mZM=10x and m /2N = 20x. - mZZ=30xandmZ£ T =20x.
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8. The regular polygon at the right is the base
of a fish tank. Find the @f the measures
of the interior angles of the polygon.
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Complete each statement about parallelogram QRST.
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Use parallelogram JKLM for #12-17 to find each measure or value.
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Determine whether each quadrilateral is a parallelogram for #18-19. Justify your answer.
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20. ABCD is a rectangle. If AC=30-xand ?\\ = ~/-lc :
BD = 4x — 60, find x. LTSNS
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23. Find m Z AEB 24. Find m ZBCD if m £ ABC = 83.2
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25. BFGH is an isosceles trapezoid with bases EF and GH and median YZ .
IfEF=3x+8 HG=4x-10,and YZ = 13, find x.
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26. For trapezoid QRST, A and B are midpoints of the legs.
Find AB,mZ£Q,and m £ S. ’
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